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Topic:- CDP_P1_CTET

1) In the field of child development, the concept of ‘brain plasticity’ suggests

(1) Entire period of childhecod and adolescence is a sensitive period of cognitive development.
(2) Development proceeds at same rate among all individuals.
(3) Only heredity influences development, not environment.

(4) Development in one domain doesn’t influence development in another domain.
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[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_103_Q1]
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3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Factors related to heredity of an individual and sources from environmental contexts

(1) have no influence on development.
(2) interact in complex ways to shape development.
(3) never interact or impact development.

(4) have very minimal impact on development.
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[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_103_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



3) A child acquires the earliest socialisation lessons from
(1) School
(2) Media
(3) Parents
(4) Newspapers
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[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_103_Q3]
1 [Option ID = 9]
2 [Option ID = 10]

3 [Option ID = 11]
4 [Option ID = 12]
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4) As per Jean Piaget's theory of cognitive development, in which of the following stage do
children begin to use symbaols to represent objects ?

(1) Sensorimotor

3

)
(2) Preoperational
(3) Concrete operational
(4) Formal operational
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[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_103_Q4]
1 [Option ID = 13]
2 [Option ID = 14]
3 [Option ID = 15]
4 [Option ID = 16]
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5) According to Jean Piaget, organised structures of knowledge in the brain are called
(1) Operations
(2) Schemas
(3) Reflexes
(4) Concepts
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[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_103_Q5]
1 [Option ID = 17]
2 [Option ID = 18]

3 [Option ID = 19]
. 4 [Option ID = 20]
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6) ‘Zone of Proximal Development’ concept in learning is discussed by

(1) Lawrence Kohlberg
(2) Lev Vygotsky

(3) Jean Piaget

(4) Howard Gardner

kT N e e B B 12 0 B T B B B N e e 0 e

(1) AEH FgAaT
(2) = ATITEEAT
(3) st T
(4) R ATEAT

[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_103_Q6]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7) While describing the process of thinking, Lev Vygotsky categorically emphasized on the
importance of
(1) Culture
(2) Maturation
(3) Negative feedback
)

(4) Reinforcement
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[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_103_Q7]
1 [Option ID = 25]
2 [Option ID = 26]
3 [Option ID = 27]
. 4 [Option ID = 28]

A W N -

8) Who among the following proposed a sequence of development stages to describe moral
reasoning among children and adults ?

(1) B. F. Skinner

(2) Howard Gardner
3)
)

(3) Lawrence Kohlberg
(4) Lev Vygotsky
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[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_103_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]
9) Assertion (A) :
A teacher should provide a range of teaching-learning materials and educational resources in
the classroom and should encourage students to explore them.
Reason (R) :
Students are capable of constructing knowledge in a conducive classroom environment.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
3) (A) is true but (R) is false

4) Both (A) and (R) false

—
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2. 2 [Option ID = 34]

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) Intelligence Quotient (1Q) tests are often criticised for :
(1) biased norms
(2) doing qualitative assessment

(3) being culturally sensitive

(4) incorporating social context of children
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[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_103_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) As per Lev Vygostsky, language
(1) hinders thinking
(2) facilitates thinking
(3) has no role in facilitating thinking
(4) has very slight impact on thinking



T APRIEhT & ATATE, {1
(1) Eaa g amsg |
(2) = =it gantaE w21 g |
(3) e 7 gefae = & S ity w2t e
(4) =7 THaw 77 9T FH THE grav g |
[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_103_Q11]
. 1 [Option ID = 41]
. 2 [Option ID = 42]

1
2
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) Practice of limiting the optional choice of ‘Home Science’ for girls and ‘Physical Education’ for
boys is grounded in
(1) Gender stereotypes

(2) Inclusive approach
(3) Gender equality
(4) Discovery approach
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[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_103_Q12]
. 1 [Option ID = 45]

1

2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) Diversity in a classroom is a for teaching-learning process.
(1) Problem
(2) Resource

(3) Hinderance
(4) Barrier
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[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_103_Q13]
. 1 [Option ID = 49]
. 2 [Option ID = 50]

1
2
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) Which of the following kind of assessment becomes 'Assessment as learning’ for students ?

(1) Assessment done by the teacher at the end of session
(2) Assessment done by special educator before the session
(3) Self-assessment by students

(4) Assessment done through standardised tests
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[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_103_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) Assertion (A) :

A teacher should encourage students to revise questions and clarify doubts while learning
about a new concept.

Reason (R) :

Raising guestions creates a block in development of critical thinking.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
3) (A) is true but (R) is false
)

(
(4) Both (A) and (R) are false
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1[Qu?cs)ti(.)n IIIIZ)) =517;5][Question Description = CTET_P1_PART_1_CDP_SET_103_Q15]
2. 2 [Option ID = 58]

3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) For successful inclusion of students belonging to disadvantaged groups, which of the following

is likely to cause hinderance ?

(1) Celebration of cultural and religious diversity
(2) Acknowledgment of role models from their social groups
(3) Highlighting differences in various practices and creating hierarchies among them
(4) Inculcating a shared national identity and promoting a feeling of belongingness
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[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_103_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17) Students with learning difficulties

(1) are all alike in academic characteristics.
(2) should be taught in a special school.
(3) are always hyperactive.

(4) are likely to differ in their academic strengths and challenges.
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[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_103_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) For successful inclusion of students with low vision, it is important to

(1) have appropriate assistive devices in the class
(2) practice segregation of these students

(3) fix their seat far from the board

(4) deliver lessons only through visual presentation
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[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_103_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Students having Attention Deficit Hyperactivity Disorder (ADHD) are likely to

(1) have persistent pattern of impulsivity.
(2) stay in assigned seat for long period.
(3) have high patience level to listen to everyone.

(4) be very organised with their actions.
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[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_103_Q19]
1 [Option ID = 73]
2 [Option ID = 74]
3 [Option ID = 75]
4 [Option ID = 76]
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20) Which of the following strategy is likely to be effective in catering to the needs of students with
giftedness ?
(1) Giving additional time to comprehend information
(2
3

(
(4) Keeping low expectations of success from them

Assiging simple and easy questions
Giving choice of self-initiated higher order thinking tasks

)
)
)
)
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[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_103_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) To gain non-innate learnings such as playing a flute, playing chess

(1) some form of explicit instructions and intrinsic motivation are required.
(2) any kind of explicit instructions or motivation are not required.
(3) explicit instruction is required but any kind of motivation is not needed.

(4) explicit instruction from any source is not required at all.
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[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_103_Q21]

. 1 [Option ID = 81]

. 2 [Option ID = 82]

1
2

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]




22) Students learn best

(1) through text-books only
(2) by repeating words of the teacher only
(3) by interacting with their surroundings

(4) through passive imitation
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[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_103_Q22]
. 1 [Option ID = 85]
. 2 [Option ID = 86]

1
2
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) Pedagogies which are dominantly yield to
by students.

of knowledge.

(1) child-centric, construction

)
(2) teacher-centric, construction
3) child-centric, mere reproduction
)

(
(4) teacher-centric, destruction
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[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_103_Q23]
. 1 [Option ID = 89]
. 2 [Option ID = 90]

1
2
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) Which of the following type becomes a barrier to students’ engagement in learning process 7
(1) Assignment related to students lives.
(2) Assignment based on students interest.
(3) Assignment that are too easy for students.

(4) Assignment giving value to students opinions.
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[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_103_Q24]
. 1 [Option ID = 93]
. 2 [Option ID = 94]

1
2
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25) Learning shouid be ;

1) meaningful and contextualised

(
(2) decontextualised and meaningless
(3) meaningful and decontextualised

(

4) contextualised and meaningless
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[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_103_Q25]
1. 1 [Option ID = 97]
2. 2 [Option ID = 98]
3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

26) While the process of problem-solving involves a lot of back and forth, yet typically the first step
in the process of problem-solving process is

(1) finding appropriate solution
(2) representing the problem

(3) identifying the problem
(4)

4) evaluating the solution implemented
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[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_103_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Even before entering formal education, children develop fairly rich understanding of their
surroundings including the objects and events they encounter in their everyday life. A teacher

should

(1) lgnore their understandings completely.

(2) Attempt to replace it with standardised school curriculum.

(3) Give importance to this understanding for advancing their knowledge.

(4) Consider this understanding faulty and irrelevant for learning.
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[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_103_Q27]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) Assertion (A) .
Schools should ignore the emoticnal side of learning.
Reason (R) :

Emotions and cognition are not related.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_103_Q28]

1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) Education should aim at motivating students for

(1) Competition

(2) Rote memorisation

(3) Independent thinking

(4) Passive knowledge reproduction
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[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_103_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Learning can be facilitated by
(1) promoting entity view of ability
(2) not sharing the objectives of task with learners
(3) increasing competition among students

(4) providing opportunties for reflection
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[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_103_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_CTET
1) {Sum of multiples of 5 from 15 to 30 + HCF of 24 and 40 — smallest prime number} is equal to
(1)92
(2)93
(3)96
(4)97

{15 ¥ 30 7% 5 ¥ TOTST T ATEHA + 24 T 40 FT HCF — 7o Grér damey
(1) 92
(2) 93
(3) 96
(4) 97
[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q31]
2. 2 [option 0 122

3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) What must be added to (6 + 0.6 + 0.06 + 0.006) to obtain the number 7 ?

(1)0.034
(2)0.334
(3)0.340
(4)0.343
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(1)0.034
(2)0.334
(3)0.340
(4)0.343

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q32]
1 [Option ID = 125]
2 [Option ID = 126]
3 [Option ID = 127]
4 [Option ID = 128]

A w N =

3) The sum of five consecutive even numbers is 60. What will be the sum, if the next two even
numbers are also added to it ?

T FHEE T8 @08 FT TEET 60 g | Ti=2 AT 37 77 Feard off 398 §e
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(1) 90
(2) 94
(3) 96
(4) 98

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) Scales, pencils and erasers are available in packets of 6, 10 and 12 respectively. If a
shopkeeper wants to buy equal number of these items, then what is the minimum number of
packets of scales, pencils and erasers respectively he needs to buy ?

(1)9,7,5
(2)8, 8,8

(3)10, 8,5
(4)8, 5, 10
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(1)9,7,5
(2)8,8, 8

(3)10, 8, 5
(4)6,5, 10

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) Shivani's mothers gave her 300 on standing first in an examination. She gave one-fourth of
the money to her brother, one-third of the remaining to her younger sister and kept the
remaining money for herself. How much money (in Z) did she keep for herself ?

(1) 125
(2) 150
(3) 165
(4)215

TOETT 7 U GO0 § TFH A T 391 71+ 34 T 300 20 | 39T 37 gAArier
H H UH-ATITE AT ATS T 3 &, TH ge 197 B UF-Tdgle dO91 Biel agd 5l
= BT 997 F947 g2 gaaier @aw frg o off | oA § feaer gaeter (] )
e o <y ?

(1) 125
(2) 150
(3) 165
(4) 215

[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]



6) Raghav wants to purchase the following items. Prices and quantities required are given below :

item Price Quantity
Milk 7 50 per litre 1 litre
Curd 780 perkg 250g

1
Mangoes 760 perkg 1E kg
Bananas z 4 each % dozen

If he has ¥ 190 with him, then which of the following statements is correct ?
(1) He has exact amount for purchasing the required items.
(2) He is short by T 6.

(3) He has enough money to purchase 75 g more curd.

(4) He will have a balance of # 4 with him.

T Fratatad aeq @LiEar J1gar ¢ | qoF 997 qited " A9 2018 8

Cis T AT

EC] X 50 ufa #tex (Rcicas
il % 80 T kg 250 g
A % 60 T kg 12 kg
o 34 TF %aﬁ—rr

72 3% O X 190 &, A7 &= il § F FA-AT S G ?

(1) 99 OTH ATAT FoTd T AT @R & (o0 T B T Seaier
2|

(Q)TTFITHIGFAIES T 2 |

(3) ST T TATH gAeier 2 e Ay 75 g TRl AT g aFar g |

(4) TH9F I T 4 90T FHT |

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7) Which of the following statements is true ?
(1) 3 right angles = 300°
(@) 3% right angles = 315°
(3) 2 right angles = 190°

1
#)22 right angles = 215°



T g § T - T g ?
(1) 3 TF=T = 300°
1 -
(2) 3 === = 315°
(3) 2 F=FTT = 190°
1 -
(4) 25 == = 215°
[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q37]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) Which of the following cannet be the lengths of the sides of a right angled triangle ?

(1)15cm, 8cm, 17 cm
(2)6 cm, 8 cm, 10 cm
(3)4cm,5cm, 6 cm
(4)5em, 12em, 13 cm

e T & -5 v FHehor Hger A et v A=At Agtar awdr ?

(1) 15 cm, 8 cm, 17 cm
(2)6 cm, 8 cm, 10 cm
(3)4cm, Scm, 6 cm

(4)5cm, 12cm, 13 cm

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q38]
1. 1 [Option ID = 149]

2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]
9) How many capital letters of the English alphabets have rotational symmetry 7
(1)4
(2)6
(3)7
(4)8

SISl Frotarrar 3 e o2 gt & ot el S 2 2

(1)4
(2)6
(3)7
(4)8

[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q39]



1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) From a 12 cm long and 8 cm wide rectangular sheet, squares of sides of 3 cm are cut off from
all the corners. What is the area (in cmz-) of the remaining sheet ?

TF 12 cm T 3T 8 cm FTET FAATEHRT offz F a7 FE1 T 3 cm G F 7T

- -~ T g
FTe for T | 9 T 9 =T o2 T SR (cm” ®) FAT g ?
(1) 50
(2) 60
(3) 72
(4) 84
[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q40]

1. 1 [Option ID = 157]

2. 2 [Option ID = 158]

3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11) Train P leaves station A at 6:40 o'clock and reaches station B at 21:30 o'clock on the same
day. Train Q leaves station A at 19:10 o'clock and reaches station B at 10:50 o'clock the next

day. Which train takes more time and how much more time (in minutes) ?
(1)P, 30
(2)P, 40
(3)Q, 30
4)Q, 70

TERTET P #=2o A 7 6:40 F97 F@dr ¢ 3T =ad B 9T IHT &9 21:30 77
el g | YeTEl Q 9T A F 19:10 I Tl g ;T qer =239 10:50 T
v2gr| B 9% wg=al g | B YermET 7 @itee quy o7 e atgesw wwy (e
) o 2
(1)P, 30
(2) P, 40
(3)Q, 50
(4)Q, 70

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q41]
1. 1 [Option ID = 161]



2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) Ankit runs on a circular track of length 400 m. He makes 3 rounds daily on it. How much
distance (in km) does he cover on the track in a week ?

Hd 400 m H= TF AT T U M AT E | AZ IHF TAE7 3 THhT
FATET g | A2 TF qed18 H 9 99 97 a1 240 (km H) 97 F2a12 ?

(1)7.2
(2)8.4
(3)8.8
(4)9.4

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q42]

1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) What comes next in the folllowing pattern ?
1A1,4B8,9C 27,16 D 64,

(1)25D 125
(2)25E 100
(3)25E 125
(4)36 E 100

o= S | S A7 g 2
1A1,4B8,9C27,16 D64,

(1)25 D 125
(2) 25 E 100
(3)25 E 125
(4) 36 E 100

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]



14) 540 students of a school voted for the best group song presented in a competition. Then, on
the basis of the obtained votes, these group songs A, B, C and D were represented on a pie
chart by angles of 120°%, 80°, 70° 90" respectively at the centre. How many students voted for
group song B ? (Assume that one student has voted only for one group song.)

(1) 100
(2)120
(3) 140
(4) 150
(LT 2 B B ) B2 e e o M e B e G e O L2 )
A== & g 3T | 9T /491 % @ U7 39 99g Wi A, B, C #i7 D #r
T UTE =1 & = ¥ Fefw e o, G9F oo F v o w1200,
80°, 70°T 90° F 10T A4 ¢ | = F==iadr 7 g9z T B & forw 77 f2347 2
(FeaaT e & vF B Faa tF ag T A U AT I T g )
(1) 100
(2) 120
(3) 140
(4) 150
[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]

3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15) The following table shows the marks in English and Mathemathics obtained by four friends :

English Mathematics
Yogesh 72 64
Joseph Fie] 68
Vinita 69 79
Devika 73 76

Which of the options given below is correct ?

1) Joseph obtained maximum marks in English but minimum marks in Mathematics.

(

(2) Devika got maximum marks in English and Mathematics combined.
(3) Vinita obtained maximum marks in English as well as in Mathematics.
(

4) Yogesh obtained least marks in English as well as in Mathematics.



o arferT o =1 [T % A3 e 90T § WA 3o TG
ST afre

TETIT 72 64
STEh 75 68
IEGIG] 69 79
EAEED 73 76

== fow a faskedt | & w fashen = g 2

(1) ST &7 AU H ATTHTH i T F A9 d% 7 |
(2) ZFEhT =1 S A A T H FArnT AfeEmaT @ et |
(3) TairaT =1 d3sAT 3= v AT 7 AfeERaT o+ 4ot |

(4) T =T AT AT A0 FATH oA dF 9 |

[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_CTET
1) Theorems in mathematics can be proved by using

(1) Experimentation
(2) Deduction

(3) Verification

(4) Observation

o & st = fhg T s Ear g

(1) ST BT
(2) = g
(3) STT= 21T
(4) T=AT BT

[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]



2) Which of the following is the best example of a crude method of assessment that encourages
mechanical computation and rote memerization ?

(1) Asking students to solve problems given in a worksheet by consulting peers and taking
teacher’s assistance.

(2) Asking students to recite multiplication tables and formulae as these are basic skills
required for computation.

(3) Posing a real problem for students to solve that involves mathematical computations and
concepts.

(4) Taking regular formative assessment after every key topic is being discussed or taught in
class.

T(EF AT TH TET TE AN AR A qACF BT FowEE =,

SR WH H H FE-ATE ?

(1) FEaTst e forer/farfem i agrar vF et o gm AwefiE § o e
FTHEATAT BT T FA H oy EEnfEar s A |

(2) U ATIO/TETE UA AT H1 AT FIA 6 o FHEEar wiv wgAr #=iE T
Atdma g MITRT TN F BT § q=G99F 2 |

(3) FAEnfd =1 ArAta® FEEAT A gW WA % (00 =T foraH AT
ATHFAT T AFHTIOMY ATIHA Bl |

(4) FeT F T HeT fAww-asg F U a7 == w90 & a2 afEg w7 8

THATH= el FHiAT |

[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q47]
1 [Option ID = 185]
2 [Option ID = 186]
. 3 [Option ID = 187]
. 4 [Option ID = 188]

A wWwN -

3) Which of the following is nottrue with respect to Van Hiele's Theory of Geometric Thinking ?

1) The levels are age dependent.

(
(2) The levels are developmental.
(3) The levels are sequential.

(

4) The levels move from concrete to abstract thinking in geometry.

fAeaferiaa § & F9-A7 39-260 F S8 1 =aq fgia F 9 § 987 gl e ?

(Y ag o [{dw g
(2) =7 fahraT= T ¢ |
(3) T AAFH AT Z |
(4) T9T SATETT | g9 F AT f=5ad il A7 FAqqd 3 |
[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q48]

1. 1 [Option ID = 189]
2. 2 [Option ID = 190]



3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

4) Which among the following statements related with use(s) of games in mathematics is/are true

?

(a) New concepts can be developed only through formal lecturing and not
through games.

(b) Games can be effectively used for practising newly developed mathematical
skills.

(c) Games cannot be used for assesment.
Choose the correct option :

(1) Only (a)
(2) Only (b)
(3) () and (c)
(4) (a) and (c)

eaforfas § O F9-97F F97 7009 F @9 F STA0T & 00 79T 2/ ?
(a) THAT AFTUTIOMSAT FT =TT el A== T gTeT 6T o
(b) = A= W Froei & a9ne % o Jar w51 996 =9
A ITATT 33T S7 71 5 |
(c) BT AFAT & TorT IUANT T8 0 SI7 T4 |
Al e 7 =799 Hfw
(1) 9 (a)
(2) 74 (b)
(3) (b) ¥ (c)
(4) (a) 37 (c)
[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q49]
1 [Option ID = 193]
2 [Option ID = 194]

3 [Option ID = 195]
4 [Option ID = 196]

A W N -

5) A student in your class is able to infer that if set A has more objects than set B and set B has
more objects than set C, then set A will have more objects than set C.
Which of the following measurement principles the student seems to have acquired ?
(1) Proportional thinking
(2) Commutativity
(3) Conservation
(4) Transitivity



AT FAT F uE AT ag avery R S www g oA Augw A H
TY==7 B #T @1 § AT T6q0 2 AT T==4 B & =34 C il =1 §
gfess aeqy 8, A7 7HgT A § FHgF C Fr g H AtaF T g |
feaforfea 5 | =T 21 /e ¥ F9-3 Wgia # sais F79 f S9rar
Ra g ?

(1) s e
(2) FHATAHTAT
(3) Fwem

(4) FFTHAT

[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q50]
1 [Option ID = 197]
2 [Option ID = 198]
. 3 [Option ID = 199]
4 [Option ID = 200]

A W N -

6) Study of patterns has been promoted at primary level because :

(1) Patterns are artistic in nature.

(2) It is easy for a teacher to teach patterns at primary level.

(3) Patterns lay the base for many mathematical concepts.

(4) In primary grades, the syllabus is very less so children can be engaged in drawing

patterns.

AT ¥ 97 TIaHTE1 F Feqae Hi datea A 7w g #=,i

(1) 9T T § FeATH® 34 2 |

(2) srafie FeAT § 7 FeATT ¥ form wiEHET T UEE A g g |

(3) I % AOET ATLTIOMAT 5 AT 7 FWHO0T 79 2 |

(4) TR FEATH H, TTS0HH Agd FH g THAT =1 B0 TIAHTH AT a9 H

= YT ST HHAT |

[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q51]

1 [Option ID = 201]
2 [Option ID = 202]

3 [Option ID = 203]
. 4 [Option ID = 204]

AW N =

7) While introducing the concept of numbers to class-l students, Mr. Abdullah, uses various
objects/materials such as pencils, balls, toffees, etc.
Which of the following represents the most appropriate reason to use this strategy ?
(1) To bring students’ attention towards familiar objects.
(2) To have some leisure time in a mathematics class.
(3) Numbers, being an abstract concept, require concrete examples for conceptualisation.

(4) Students need to be motivated to learn number concepts.



FeAT-1 % A== 1 deand £ ATAT0T I F9 g, AT degearg | AtEe
feferfea & & Fa-a7 =97 Iih T TR F00 H7 FaeT SUF F g 2

(1) A=t =1 gare o= ToqaAr it AT ARt 7T |

(2) T =Y FAT H Fg ATl T g9 &HA=

(3) Femedt, w1 3% mw e wwer g F averftei g areT/ae IEeem
AGATT 2 |

(4) TH=TFE=T =T JeaT 9y ATETH F o7 Iredmgs it @rasgFar 2 |

[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q52]

1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

8) In Synthetic method, we proceed from
(1) Known to unknown
(2) Unknown to known
(3) Complex to simple

(4) Example o rule

Heataqg A8 &, g9 rET a8
(1) T 7 HSATT T AT

(2) AFATT | 1T il AT

(3) F5T & T FiT AT

(4) SITEEw 7 T #i @™

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q53]

1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

9) According to National Curriculum Framework 2005, the textbooks of mathematics at primary
level must include :
(1) Technical mathematical vocabulary.
(2)
(3) Formal algorithms to solve guestions.
(4)

4) Precise definitions of mathematical concepts.

Mathematical stories, games and activities.



TTCET BT AT 90T 2005 F FFATE, A0 it JrATHE T A A E o
S g AT |

(1) FEFRATHT T TR

(2) v Fgriaat, Jo 3T Ty

(3) TeT T FTeA T ATTATH FHera-1a1er

(4) IO Faea=T i JE T

[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q54]

i

3 [Option ID = 215]
4 [Option ID = 216]

A W N -

10) Evaluation is useful for various stakeholders in education. For a teacher, as one of the
stakeholders, evaluation is helpful to
(1
(2
(3
(4

Frame syllabus and develop curriculum
Give important infarmation about how to run a school

Identify both general and individualised learning challenges faced by students

e =

Take valuable and serious administrative decisions

forerr | A= fEaar=i & o qoaisy @9+ 2 | UF Bagr F =1 § uF
forerss = o, Foarrene FE=Te

(1) ITETRH T TYLET AT UF T5T949T 6 A §
(2) = e 1 H=rae R g e s 2, a7 agea gEar I
(3) FTHTT TAH TR Aftery F S PRt F qwe a9t wteaear f
TEAT FA H
(4) TeAT WA ST TR (O o |
[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q55]
1 [Option ID = 217]
2 [Option ID = 218]

3 [Option ID = 219]
4 [Option ID = 220]

A W N -

11) A child in a mathematics classroom, writes

4-78 >4-9

726>7-3

Which of the following is the most appropriate reason for this error ? The child

(1) is careless and inattentive in the class.

(2
(3
(

4) has mathematical learning disabilities.

needs to be given more similar problems to practise.

has over-generalized the rule that a three-digit number is greater than a two-digit number.

)
)
)
)



o =1 FHeAT § U F=41 forgar g

4-78 > 4-9

7-26>7-3

Feafarfed § & F:9-a7 79 7fe F forg gaitas sugsy s g 2

(1) T==T ATITATE & AT FAT F T 72l ¢ |
(2) T== T FETH F Tor7 AT8F A 97 I T AFITFATZ |
(3) 7= 7 z& Ta7w, & vF fm-sihrg e Bt =31 o 911 7 921 2t 2,
=T ATT =TT 7 frar g |
(4) T== H TATOTT ATENTH FAIATY B |
[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]

3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) According to National Curriculum Framework 2005, primary level mathematics teaching and
learning should focus on
(1) learning mathematical terminologies
(2
3

(
(4) rigorous practice of solving questions

memorizing of algorithms

)
)
) mathematical explorations through activities
)
T ITE=AT 9T 2005 F A9, WATHE T F Jior v e uA
(1) IO STe3Ta ol & ATENTH 97
(2) FAFATATEAT BT F5ET FIA T7
(3) TTTRTATRTT % greas & AT TTaeo 97
(4) T9T T T FIA h T2 FHTH TT
[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]

3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) Which of the following is nottrue about nature of mathematics ?

(1) It is based on logical reasoning
(2) It has its own unigue language and symbols
(3) It is abstract in nature

(4) It has a very limited application in other disciplines



Aeaforfaa & F9-a7 T 50 THi F aTq Tar Agle ?
(1) =g Tt BAa=w aw araita g
(2) ==t Aoy Bfor= ar A BT g

(3) =g WA & o g

(4) e fAet § et At ATHT AquanT g
[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q58]
. 1 [Option ID = 229]

. 2 [Option ID = 230]

1
2
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) According to National Curriculum Framework 2005, the statement, “School mathematics can
play a significant role in developing estimation and approximation skills” is

(1) Not true since mathematics is a subject which requires exact answers.

(2) True since students may approximate the answers as it is difficult to remember many
formulae and algorithms.

(3) True since it helps in saving time in solving problems.

(4) True since solutions to many scientific, mathematical and everyday problems involve
estimation and approximation.

TMEEIT qTer=al ®9at 2005 ¥ ATATE, Tg FIT AT T3 Alaswed H1aT 5
3T | Telt IO U AT T 59T ' 20

(1) &7 771 £ Fitw T TR TAT By g NEH #E I9 h Araemshdn
= g |
(2) e 7, it Tt & forg S oo &l Fere i 1 avs T w57
(3) & g, (T T T FT T Feel H GHT Fl T F241 2 |
(4) = g, T FF ASriae, T o g £ aaeret F 3w § aqan
TH FierERA R AT 2 |
[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q59]
1 [Option ID = 233]
2 [Option ID = 234]

3 [Option ID = 235]
4 [Option ID = 236]

A wWwN -

15) Which of the following would be least appropriate to teach fractions to students at primary
level?

(1) Using pictorial representations of fractions.
(2
3

(
(4) Using paper-folding techniques to represent various fractions.

Differentiating between fractions and natural numbers using definitions.

Using daily life examples of part and whole relationships.

)
)
)
)



et & & si-ar  yrafvs =2 92 Bty 5 9= fae & oo a9q
F FHFT TR 2

(1) Tt & =i esgor &7 S |

(2) aframaTet & UGN | T4 A7 IFia s deqreft F 19 dq7 F77 |

(3) TBH &lIT T = |l ATl Sfveh S(IA7 % SITELON AT STANRT FoxrT |

(4) e foa=t =1 = w2 % form Toe—mrfee T gt FT STIRT FHe7 |

[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_103_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_CTET

1) A tourist has reported as follows :

‘Il am in a village. Heavy rains is a common feature at this place. Hence, the villagers have
made their houses almost 10to 12 ft (i.e., 3 to 3.5 metres) above the ground on the bamboo
pillars. The inner sides are also made of wood. The roofs are slopy.”

The village must be in

(1) Himachal Pradesh

(2) Uttarakhand

(3) Assam

(4) Andhra Pradesh

T Te® 7 = R aga 3 e

“B UH A F E | AT A97 AT HT AT [E99ar g | FHI T8t & Tal &
ARTT F AT T AT F A 9T g § T 10 7 12 5 (A0 3 7 3.5
o) AR WA g | TR A g afsr Fa7¢ | Al Al gd e g |
7g Mg Mt 7 F w21 g1 A1 2

(1) BHT=T 939

(2) THTTETE

(3) =+

(4) &rer w29

[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_103_Q61]

1. 1 [Option ID = 241]

2. 2 [Option ID = 242]

3. 3 [Option ID = 243]
4. 4 [Option ID = 244]



2) The largest fair/tribal festival in South India is
1) Kumbha Mela

(
(2) Sammakka Saralamma Jatara
(3) Kharchi Festival

(4) Gangaji Fair

0T AT FT A FET HATVATRATHT Io0d g

(1) s

(2) T ALTATAT T
(3) =TT 3T

(4) TTSAT FeT

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_103_Q62]
1 [Option ID = 245]
2 [Option ID = 246]
3 [Option ID = 247]
4 [Option ID = 248]

A WN -

3) ltis a social concern that sewage in many cities in India is still

(1) cleaned by machines
(2) cleaned by manual scavengers
(3) the best facility

(4) is owned by private companies

T UF HTATSr (=ed1 7 = 2 156 9 § 5gd 7 9870 3 7w a9 61

(1) =efiat grr aTs A ST g

(2) FeAT ZTeT ATAT 3 FTET 21T & THS 6 AT

(3) TaH F=T AT

(4) st Foafaat Fafaa v g
[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_103_Q63]
1 [Option ID = 249]
2 [Option ID = 250]

3 [Option ID = 251]
. 4 [Option ID = 252]

A w N -

4) Pochampalli is the name of

(1) folk art paintings made with special colours

(2) sarees with traditional geometric patterns of dying

(3) type of goats whose fine wool is used for making shawls
(

4)range of ancient Indian temples



TTEHTTA [ ATH
(1) & == T 7 S =39y S0 ' a9 S g
(2) ARt F1 o a% Tt e & AT T e ¢
(3) ==t it e =1 o=t 9g17 S o1ier 91T & FTH AT g
(4) ITHIT AT Fi=<r A7 A0t =T
[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_103_Q64]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]

3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

5) Consider the following statements -

A. Lieutenant Commander Wahida Prism is a doctor in the Indian Navy.

B. Wahida Prism comes from a very small village and has done her schooling

from a government school.

C. Wabhida Prism is the first woman to lead a parade.

D. Wahida Prism is a medical officer and just gives medicine to the patients.

The correct statements is/are :

(1) Only A
(2)Aand D
(3)A,BandC
(4)A,BandD

= 3w o w97 A= e
A. TFEHE FHIET T2IST (0 AT ATHAT H S 3 |
B. =giar T UF 9gd @ic A § g Al Il Gzl "ol eenag
Tgeg
C. agrar fusH ugelt afgen g fSrgiv U 93 i FHE d9re’ |
D. agrar fuew qiEser aifthae § ot Tt &1 AT 81 341 2 |
el T 22
(1) =T A
(2)A&TD
(3)A, B&TC
(4)A, BT D
[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_103_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]

3. 3 [Option ID = 259]
4. 4 [Option ID = 260]



6) The unigue art of embroidery of Varanasiis

(1) Zardozi
(2) Toda
(3) Phulkari
(4) Kantha

FTRTUET T F@T2 o ATZT T FAT &

(1) RIS
(2)ATET
(3) TorETT

(4) TP

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_103_Q66]
1 [Option ID = 261]
2 [Option ID = 262]
3 [Option ID = 263]
4 [Option ID = 264]

A WN -

7) Which of the following would one use for travelling to space ?

(1) A satellite
(2) A rocket

(3) An airplane
(4) A meteoroid

et § & F9-A7 ST § T F o0 926 w47 ?

(1) HEATZZ/STIE
(2) 7=

(3) ATLATH
(4) =T foe

[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_103_Q67]
1 [Option ID = 265]
2 [Option ID = 266]
3 [Option ID = 267]
. 4 [Option ID = 268]

A w N =

8) People from villages migrate to cities and towns

(1) for better hygiene and open spaces
(2) for better air quality and health provisions
(3) for better job opportunities and educational facilities

(4) for better water quality and social rules



FT AT 7 20 AT F=1 6 AT BT 2a 3 ?

(1) TEAT F=ZAT TAT GAT 51918 = foreg

(2) FEAT AT HT AT TAT FATET AIAATH 1w

(3) AZAT LT & AFAHFT F4T {8 qAgmai = oo

(4) I IUTADT T S TAT ATHTH a1 % foro
[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_103_Q68]
1 [Option ID = 269]
2 [Option ID = 270]

3 [Option ID = 271]
4 [Option ID = 272]

A w N =

9) We observe that in urban areas most of the wells which were functional about 40 years ago
have dried up. Consider the following possible reasons for drying up of water in the wells.

A. No one wants to use well as there are taps in every home.
B. People love to draw underground water using electric motor.
C. The soil around the trees, wells and nearby areas is now covered with
cement / coal tar to make the surrounding clean.
D. The lakes (ponds) in which rainwater used to collect are no longer there.
Tall buildings may be seen in those places.
The correct answers are

(1)A,Band C
(2)B, CandD
(3)A, CandD
(4)A, B and D



TH AL SAT F A T3 ¢ T ATmier T A0 A9 40 79 ITF T G F o
ST 30 ST F &7 g T 2 | 39 FATF TIAT F qE@ o A (S0 T  9rad
oo 97 A= e )
A. Tz T T FT TTIRT FIAT Al ATedT g Fi6 adr T90 § ZAfeqt
T E |
B. @7 A2 A2 ZTT A1 el Fi=+1 I8 F7d 2 |
C. T2, TaAl A7 ATIT HT FTHIA Tl A HHve [ FIATE T 6 F:7
AT KT ATF T47 ZAT7ATE |
D. T et (FTeral) ¥ a9 &7 T S5l a1 97 9 gt Agl 2 | 34
AT U7 &3 AaT 39 ST 9949 g |
(MA,B&#TC
(2)B, C @D
(3)A, C#TD
(4)A, B #7 D
[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_103_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]

3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

9 on account of Yoga day celebrations, an EVS teacher decided to take 5" grade students on a
tour to the ‘Yoga capital of the World’, which is

(1) Ranikhet

(2) Ooty

(3) Rishikesh
(4) Gangtok

IrT f2=w & 991i0g % I9asd H, U% EVS &1 degruw fHe=wd F7ar g % ag
a1 AT & STAT 1 AT T ART AT F GHOT T2 o ST, et 714 2

(1) Treie

(2)

(3) = ferehar

(4) e
[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_103_Q70]
1. 1 [Option ID = 277]

2. 2 [Option ID = 278]
3. 3 [Option ID = 279]



4. 4 [Option ID = 280]

11) At home, children are told to eat slowly and chew well. The most appropriate reason/s is/are
A. theyeatless

B. their teeth remain safe
C. they don't drink water while eating

D. their food digests properly
Choose the correct option :
(1)A and B
(2)BandD
(3)A,BandD
(4) Only D

D. A% AIST &1 U197 Hgl &7 9 2iar g

Hel ey 1 AT

(1)A &7 B

(2)B#D

(3)A, B#=D

(4) ¥4 D
[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_103_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]

3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12) Highest class of roads which are mosily 6 lanes or above are called
(1) National highways
(2) Airways
(3) Expressways
(4) Waterways



TEH FT TAT=F A9 ST ATEHAL 6 T AT ATAF T 21aT &, FI1 Fgea1d g ?
(1) T TTSTHET

(2) =TLET

(3) TFEIHA

(4) STTHT
[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_103_Q72]
1 [Option ID = 285]
2 [Option ID = 286]

3 [Option ID = 287]
4 [Option ID = 288]

A wN =

13) Solve the following riddle :
“On my head | have a crest,
All say | dance the best,
Of my feathers | am proud.”
lam

(1) Parrot
(2) Dove

(3) Duck

(4) Peacock

Ferferiad g2t g e
‘T T qY A1 8,
=7 0l T AT 2 I
i
(1) FrET
(2) T
O ERETLEEIE]
(4) HT
[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_103_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]

3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) The popular art and craft of Daman and Diu is :

1) Bamboo craft

(
(2) Warli painting
(3) Stoneware

(

4) Tortoise shell craft



THA TH S A ATRIT FeAT UA fqeTwmT g

(1) et it forewerey

(2) a7t =TT

(3) Teaw it forea=wTeT

(4) FGT & Fa= T fewHTLT
[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_103_Q74]
1 [Option ID = 293]
2 [Option ID = 294]

3 [Option ID = 295]
. 4 [Option ID = 296]

A wN =

15) Vitamins and minerals are called micronutrients because

(1) they can only be obtained by artificial supplements.
(2) their deficiency causes various kinds of diseases.
(3) they are required by humans in smaller amounts.

(4) they are important components of all food items.

T TI7 GRS A= A7 LR TIT Tod Fgl ST ¢ FA0

(1) 27T AT FAH T ST T BT ST FFar g |
(2) Tht /AT & FE = T 6 TR g S £
(3) HEAT | T ATALAFHAT FHH qTATH grar g |

(4) T THT AT TRATAT F g0 2w 3 |

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_103_Q75]
1 [Option ID = 297]
2 [Option ID = 298]
. 3 [Option ID = 299]
4 [Option ID = 300]

A W N -

Topic:- EVS_Q76-90_P1_CTET



1) Which of the following statements explains the fact that Environmental Studies is an
inter-disciplinary subject ?
A. It integrates the knowledge of various subjects for understanding all the aspects
of environments.

B. ltis an interdisciplinary area which includes concepts in various forms.

2

It is an area of interaction between biological, social and cultural environments.

D. Itis an area of interaction and mutual dependence between living and non-living
components.

E. It is the prior preparation of science and social science subjects of upper
primary classes.

(1

(2

3

4

A, BandC
B,CandD
C,DandE
A BandE

—
T o e Sa®

fReaforfara & & F9-7 F99 29 97 1 O7F F29 ¢ {6 T A9049 U
AT AqaE A AT g 2
A. T wEiEeer F adt aged B awEe % foro Afee At F S
Tl Wahid 2T 2 |
B. 1z fAfae =7 § sagmumei = ATHA FIA AT TE
HT- ATATHTF & 2 |
C. Ig Wi, ATEToE T Jiepia® TAET F giT Aol S AT i1
qTE |
D. Ig A% T ST =2l & L7 TLeq7 Ariadar va @@
T ATAT AF 3 |
E. og 3=F UTATHS F74 & @S0 UF Asiiers @y @9aar w14
AT |
(1)A, B#TC
(2)B, C & D
(3)C,DETE
(4)A BHTE
[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_103_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]

3. 3 [Option ID = 303]
4. 4 [Option ID = 304]



2) Theme-based approach in EVS helps in

(1) covering all concepts and issues
(2) developing sensitivity towards the environment
(3) developing student-teacher relationship

(4) accessing knowledge holistically

R D R o e B B B 2 e P4 s B o D 7 L

(1) =T et v fFuy i antHe F H

(2) TatEoT F gi Haaefioar Fwag #a J

(3) F=mfit-awm= vy A= #2a §

(4) T =T TYOTAT & Fiord el 5
[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_103_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

3) Which of the following statements explain the nature of CCE ?
A. This is an assessment which is done at the end of lesson and year.

B. This is an assessment of what has been learnt instead of assessment for
learning.

C. This is providing an opportunity to learn constructively.

D. This is an assessment for learning instead of assessment of what has been
learnt.

(1)A and B
(2)Band C
(3)CandD
(4)A and D

fAeAforiaa § F F9-8 F979 Tq9 U FHY G150 60 THd 6 772 F79 ¢ ?
T UTS AT AIA 6 ST H 214 AT ATFA 2 |

I8 Hrae & o & I9 Jie 107 FT drhad 2 |

Tg THAATHE =T H Hig= h AFL ITAse FAA1 2 |

(1)A &7 B
(2)B&TC
(3)C &= D
(4)A D

[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_103_Q78]
1. 1 [Option ID = 309]

oo wp



2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

4) CCEin EVS stands for

(1) Continuous and Cumulative Evaluation
(2) Cumulative and Cognitive Evaluation
(3) Comprehensive and Cumulative Evaluation

(4) Continuous and Comprehensive Evaluation

EVSH CCEmT 4 2

(1) =raa wa H=HT g

(2) H=T TA HATATAT oo
(3) =T UE H=AT HeAtw
(4) T U SATTH T

[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_103_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

5) Which of the following statements are the objective of EVS ?
A. To provide direct information, definitions & description about the environment.
B. Todevelop sensitivity towards current environmental issues.
C. Togenerate situations to interact with environment and acquire knowledge by self.
D. Todevelop the efficiency to remove the environmental problems.

(1)Aand B
(2)Band C
(3)B,CandD
(4)A,BandD

Feaforfas § & F9-5 F97 TAE00 ALT99 & 5297 2 ?

A. TITEIO F AT F TOT SOAFRET, AT S F307 T2 F75A97 |
B. HTSET TATEONT 2T % T Aaaeierar Hwfea w5 |

C. TIAS T AT Feh T FTATS 2 300 eI aaf Fa7T |

D. THFTUT THEATEAN &l ZT FHaed 31 FAAT (AR AT FHLAT |
(1)A T B

(2)B&iTC

(3)B,C &= D

(4)A, B & D



[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_103_Q80]
1 [Option ID = 317]
2 [Option ID = 318]
3 [Option ID = 319]
4 [Option ID = 320]

A W N -

6) In EVS, an environment as a concept is meant to include

(1) physical environment and biological environment
(2) biological environment, physical environment, socio-cultural environment
(3) physical environment and socio-cultural environment

(4) biological environment, life processes and systems, socio-cultural environment

TN FAT § AT F =Y H OAEL0T AT AT 5

(1) |Tfa= gaT==o o SfEs ToEe

(2) SITE= TETT, Fia® G A, AT A e T T aeoT
(3) ATTE= THAATT ST AT - (o T AT

(4) ST T AT, SAT THH ST 75, AT - Ao (o T AT

[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_103_Q81]
1 [Option ID = 321]
2 [Option ID = 322]
3 [Option ID = 323]
4 [Option ID = 324]

A wWN =

7) While waiting for the school bus in the morning, Mona was asking her son Jayesh, facts and
definitions for the EVS test to be held today.
Which of the following statements are big barriers for learning of Jayesh ?
A. Mona is helping Jayesh by doing so, because by revising, Jayesh will learn
facts and definitions by heart.
B. Mona is helping Jayesh by doing so, because facts and definitions are learnt
better in the morning hours.

C. Mona is making Jayesh anxious by asking facts and definitions, instead of
nurturing natural curiosity.

D. Mona is making Jayesh anxious by asking facts and definitions instead of
developing process skills.

1A BandC
2)B,CandD
3)CandD

(
(
(
(4)A and B



AT T A AT A o THA HIAT AT 9 AT FT AT AT i AT

TATAT ALTAT AT F form qor e o g w21 off |

Feferfaa § & Fw-7 F09 F997 % Hra" § 777 T2 a8 g 2

A. TAT FTF HAT T4 Hi TEEAGT FT TG0 2, N g0 T 9T

B. THT #¥& HAT AT HI TgEAT &L 7@ 3, FiH J247 AT
TTCATITAT T g F AW A= q7g ° ATS AT ST war 2

C. THT FaHh HAT AT TS 7 0907 57 7271 2 |

D. THT &% HAT AT Frerer HHfaa &7 F 2 |

(1)A, B &= C
(2)B, C #*D
(3)C &= D
(4)A ST B

[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_103_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]
8) EVS text book is
A. Child-centred
B. Teacher-centred
C. Subject-centred

D. Community-centred
(1) Only A

(2)Aand C
(3)Aand B
(4)A and D



EVS it IT3-0Fq% S99 §
A. FTA-HIRA

B. PrewaGaa

C. TEug-#iEd

D. #HI™E-Fizd

(1) =T A

(2 A#TC

(3)A#TB

(4)AETD
[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_103_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]

3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

9) While teaching “Foods” to class IV students, Rukmini made the students eat “Chaat” a popular
food. She asked students to describe the taste and guess the ingredients used in the chaat.
This approach will help in the development of which of the following type of process skill ?

(1) Theoretical skill
(2) Practical skill

(3) Observation skill
(4) Skill of describing

FeT IV & ety 1 “Sis” ugta gu e § FenfEat 1 uF @
AT =12 e | 39+ F=nfagt & g0 1% F7 a0 Fed 9497 JE F A0
1 T2 AT T JTATT 0 T F2T |

I8 SUTTH Raferiad § 9 &30 T & 9iHar frerer Fi [Eaiad 70 § 9gia5 g

?

(1) FrifaF Frere
(2) FTTRrE 9T
(3) A=A A
(4) ZITEAT FTA FT FIIA

[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_103_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]




10) The skills developed by students when they conduct the activity given in the topic ‘what floats,
what sinks’ are

(1) Observation, Discovery, Discussions

)
(2) Interviewing, Questioning, Cooperation
3) Observation, Recording, Analysis
)

(
(4) Explanation, Discussion, Concern for Justice & Equality

s FE=met, Ao s q9ar g = g §rar § # 7y au ey w5 s=ie
A g, T IH o Freredt F SFH AT, T8

(1) r&roT, VST, =T FHAT
(2) AT FTAT, T FIAT, THNT
(3) &g, srfererEs, FHoeram

(4) ATT FTAT, FAT FHEAT, 71T T THIAAT T T

[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_103_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

11) Radha, an EVS teacher was making “Poori” at her home on Diwali. Her daughter Geeta
wondered why the poori puffed on frying. As a teacher what should Radha do ?
A. Tell her that water molecules get converted into steam and poori gets puffed
due to steam thus formed.

B. Ask her to think about other similar eatables that get puffed like “chapati” and
think about the reason.

C. Ask her to think about the reason and explain why poori gets puffed upon frying
in oil.

D. Show her that plate covering the rice utensil during cooking also moves
upwards and ask why it moves upwards.

1)AandB
2)BandC
3)CandD

(
(
(
(4)B and D



TTET, UF T 4N.0F. 7 A=, Raret o au" 9% IET 797 T2t A7 | Iy AE
AT T g A9=T AT % T TA7 TL TeAr FA1 2 LT B T [0 g1 % A1
AT FHTAT AT ?
A. ITH FF T I F F ATT H I A 2 AT TH A5 H AAT ATT
= 0 [T T Sl g |
B. TEH TH Tg T AT T ATAT AT T AEIAT SH AT AT
T ATAA T T, AT THAHT HI0T IS 5l Fg |
C. THH THHT FOT GTE AT g GHATH F Fg % 9o § qoq+ 97
D. % 7g Rt & =m=e we % W, JEd F a7ad i awd
TTAT ATAT T FT T3 &, AT IAR IAH HIL I57 F1 F0 T3 |

(1)A#TB

(2)B#TC

(3)C & D

(4)BH#TD
[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_103_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]

3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) In class IV, chapter on ‘Changing Times’, students are expected to interact with their

grandparents to find out about their childhood. This approach relies on

(1) History

(2)
(3)
(4) Oral history

Archaeology

Written records

FEAT IV % 915 FEad g9 | Henihai § 97 quer i o rdr g T egue
TTET-ATAT 7 HATE FY &7 A9 I AT & (497 § 4 | Tg II07H W9 2
(1) =g 9%

(2) o= 9%
(3) Tt afwerar a7

(4) #ifa= =fagma o=

[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_103_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]



13) In a camp, during evening Nayeema asked students to sweep their room for cleaning it. Mani
said, "My grandmother says that if we sweep the house after sunset, we will become poor.”

What should Nayeema do ?
(1) Tell Mani that no such thing happens if we sweep the house in the evening.

(2) Tell Mani that keeping the place where we live clean is essential and so sweeping must be
done.

(3) Ask Mani if she has swept the house earlier to see what happens when sweeping is done
after sunset.

(4) Tell Mani to sweep the room and test whether she becomes poor by doing so.

FET H, T F FIA, ATCHT AU (HTHAT F 395 FHL GTF T & o0 AT

AT T Fgdt § | A0 Fgar g, T TE FAT E AT ZH GITE F ATS AT

TR, A7 9 T &1 ST0A1 | ATSHT &l 347 HiedAT FArig’ 2

(1) =0T & g B 997 g9 o7 F 97 H{ ATE A 2, A7 UAT FE ARl 2rav g |

(2)|i0r 7 =g & STl g9 Tgd &, 9 SHIg &l ATF TE@AT1 ATigU, THAU AE
(ﬂﬂl"‘ll?T%Q’l

(3) Fr & T& T 47 309 A 3@ & ™0 & 3T G 5 a8 ATg A0
ST AT T 3T g, Tl ATE 9T g |

(4) =0T 7 g & ag AT ATHT TH G0 A A FHe T TAT FF F=47 G W
I STEr 2 |

[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_103_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

14) Students are encouraged to actively engage in the learning process thus developing practical
skills that will be of help in their lives later. Such an idea depends upon

(1
(2
(3
(4

Discovery approach
Inquiry method
Conceptual approach

i e =

Experiential learning



et =1 aftmy giwar § ol awr &= F o srenfaa BT smar g e
ITH AT FAAT FT FAHT Za1 g, ST Ieg sitaq § 732 F91 | 9T F=w
=T 2

(1) AT IIWTH 07
(2) g fAfer 97
(3) AT HITHF IANH 97
(4) A rETeE AT 9T

[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_103_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

15) While on a visit to the zoo, students were observing rabbits. Kiran asked the teacher, “Which is
the rabbit who ran the race with the tortoise ? Where is the tortoise 7"
Kiran's guestions indicate which of the following objectives of EVS learning ?
(1) To connect children with the explorative activities

(2) To nourish the creativity of children
(3) To develop an awareness towards environmental issues

(4) To develop sensitivity towards wild animals

fefsameT 1 % F Srow E=Emdt @ 39 79 O | TR T eeAnisT 7 Ie,
“Fg AT F19-97 2, Forew g F a9 g g of 2 98 FgAn w2
(BB B o 0 B £ 2 B 2 B e 5 e e T e IR e 1 A ) s e T =

(1) TFT HT AATTHS T ATSTT F FIEAT
(2) F==1 T FOTATHFAT FT TN FAT

(3) afeasia q2T 9T ST =1 fEehre HvAr
(4) 7= Srat = v gagasferar Fwta war

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_103_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- ENG_Q91-99_L1_P1_CTET



1) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Scientists discovered that some naturally-occurring lake bacteria grow faster and more
efficiently on the remains of plastic bags than on natural matter like leaves and twigs. The
study involved sampling 29 lakes across Scandinavia between August and September 2019,

2. The carbon compounds in plastic are broken down by bacteria and used as food for their
growth. The effect is quite apparent: when plastic pollution raised the overall carbon level in
lake water by just 4%, the rate of bacterial growth more than doubled. According to the
findings, the plastic pollution in lakes is likely ‘priming’ the bacteria for rapid growth. Iit's almost
like the plastic pollution is getting the bacteria’s appetite going. This suggests that plastic
pollution is stimulating the whole food web in lakes, because more bacteria means more food
for the bigger organisms like ducks and fish.

3. Enriching waters with particular species of bacteria could be a natural way to remove plastic
pollution from the environment according to the researchers. Lake bacteria were found to
prefer plastic-derived carbon compounds over natural ones. The scientists believe this is
because the carbon compounds from plastics are easier for the bacteria to break down and
use as food,

4. The effect varied depending on the diversity of bacterial species present in the lake water —
lakes with more different species were better at breaking down plastic pollution. The study also
found that bacteria removed more plastic pollution in |akes that had fewer unique natural
carbon compounds. This is because the bacteria in the lake water had fewer other food
sources.

5. The results will help to prioritize lakes where pollution control is most urgent and to identify
microbes that could be harnessed to help break down plastic waste and better manage
environmental pollution.

6. This does not condone ongoing plastic pollution, the scientists caution. Some of the
compounds within plastics can have toxic effects on the environment, particularly at high
concentrations. If a lake has a lot of plastic pollution, but low bacterial diversity and a lot of
different natural organic compounds, then its ecosystem will be more vulnerable to damage.

Which of the following words is opposite in meaning to the word ‘apparent’ as used in para 2 of
the passage?

(1) seeming
(2) invisible
(3) possible
(

4) clear
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2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Scientists discovered that some naturally-occurring lake bacteria grow faster and more
efficiently on the remains of plastic bags than on natural matter like leaves and twigs. The
study involved sampling 29 lakes across Scandinavia between August and September 2019,

2. The carbon compounds in plastic are broken down by bacteria and used as food for their
growth. The effect is quite apparent: when plastic pollution raised the overall carbon level in
lake water by just 4%, the rate of bacterial growth more than doubled. According to the
findings, the plastic pollution in lakes is likely ‘priming’ the bacteria for rapid growth. Iit's almost
like the plastic pollution is getting the bacteria’s appetite going. This suggests that plastic
pollution is stimulating the whole food web in lakes, because more bacteria means more food
for the bigger organisms like ducks and fish.

3. Enriching waters with particular species of bacteria could be a natural way to remove plastic
pollution from the environment according to the researchers. Lake bacteria were found to
prefer plastic-derived carbon compounds over natural ones. The scientists believe this is
because the carbon compounds from plastics are easier for the bacteria to break down and
use as food,

4. The effect varied depending on the diversity of bacterial species present in the lake water —
lakes with more different species were better at breaking down plastic pollution. The study also
found that bacteria removed more plastic pollution in |akes that had fewer unique natural
carbon compounds. This is because the bacteria in the lake water had fewer other food
sources.

5. The results will help to prioritize lakes where pollution control is most urgent and to identify
microbes that could be harnessed to help break down plastic waste and better manage
environmental pollution.

6. This does not condone ongoing plastic pollution, the scientists caution. Some of the
compounds within plastics can have toxic effects on the environment, particularly at high
concentrations. If a lake has a lot of plastic pollution, but low bacterial diversity and a lot of
different natural organic compounds, then its ecosystem will be more vulnerable to damage.

Which one of the following words is similar in meaning to the word ‘unique’ as used in para 4 of
the passage?

(1) ordinary
(2) similar
(3) irrelevant
(

4) extraordinary
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3) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Scientists discovered that some naturally-occurring lake bacteria grow faster and more
efficiently on the remains of plastic bags than on natural matter like leaves and twigs. The
study involved sampling 29 lakes across Scandinavia between August and September 2019,

2. The carbon compounds in plastic are broken down by bacteria and used as food for their
growth. The effect is quite apparent: when plastic pollution raised the overall carbon level in
lake water by just 4%, the rate of bacterial growth more than doubled. According to the
findings, the plastic pollution in lakes is likely ‘priming’ the bacteria for rapid growth. Iit's almost
like the plastic pollution is getting the bacteria’s appetite going. This suggests that plastic
pollution is stimulating the whole food web in lakes, because more bacteria means more food
for the bigger organisms like ducks and fish.

3. Enriching waters with particular species of bacteria could be a natural way to remove plastic
pollution from the environment according to the researchers. Lake bacteria were found to
prefer plastic-derived carbon compounds over natural ones. The scientists believe this is
because the carbon compounds from plastics are easier for the bacteria to break down and
use as food,

4. The effect varied depending on the diversity of bacterial species present in the lake water —
lakes with more different species were better at breaking down plastic pollution. The study also
found that bacteria removed more plastic pollution in |akes that had fewer unique natural
carbon compounds. This is because the bacteria in the lake water had fewer other food
sources.

5. The results will help to prioritize lakes where pollution control is most urgent and to identify
microbes that could be harnessed to help break down plastic waste and better manage
environmental pollution.

6. This does not condone ongoing plastic pollution, the scientists caution. Some of the
compounds within plastics can have toxic effects on the environment, particularly at high
concentrations. If a lake has a lot of plastic pollution, but low bacterial diversity and a lot of
different natural organic compounds, then its ecosystem will be more vulnerable to damage.

Which part of speech does the underlined word belong to in the following sentence?

If a lake has a lot of plastic pollution, but low bacterial diversity and a lot of different natural
organic compounds, then its ecosystem will be more vulnerable to damage.

(1) conjunction

(2) preposition

(3) adverb

(4) pronoun
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4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Scientists discovered that some naturally-occurring lake bacteria grow faster and more
efficiently on the remains of plastic bags than on natural matter like leaves and twigs. The
study involved sampling 29 lakes across Scandinavia between August and September 2018,

2. The carbon compounds in plastic are broken down by bacteria and used as food for their
growth. The effect is quite apparent: when plastic pollution raised the overall carbon level in
lake water by just 4%, the rate of bacterial growth more than doubled. According to the
findings, the plastic pollution in lakes is likely ‘priming’ the bacteria for rapid growth. Iit's almost
like the plastic pollution is getting the bacteria’s appetite going. This suggests that plastic
pollution is stimulating the whole food web in lakes, because more bacteria means more food
for the bigger organisms like ducks and fish.

3. Enriching waters with particular species of bacteria could be a natural way to remove plastic
pollution from the environment according to the researchers. Lake bacteria were found to
prefer plastic-derived carbon compounds over natural ones. The scientists believe this is
because the carbon compounds from plastics are easier for the bacteria to break down and
use as food,

4. The effect varied depending on the diversity of bacterial species present in the lake water —
lakes with more different species were better at breaking down plastic pollution. The study also
found that bacteria removed more plastic pollution in |akes that had fewer unique natural
carbon compounds. This is because the bacteria in the lake water had fewer other food
sources.

5. The results will help to prioritize lakes where pollution control is most urgent and to identify
microbes that could be harnessed to help break down plastic waste and better manage
environmental pollution.

6. This does not condone ongoing plastic pollution, the scientists caution. Some of the
compounds within plastics can have toxic effects on the environment, particularly at high
concentrations. If a lake has a lot of plastic pollution, but low bacterial diversity and a lot of
different natural organic compounds, then its ecosystem will be more vulnerable to damage.

Which part of the sentence contains an error?

Mostly the newly recruited officers have no experience in the public sector.
(a) (b) (c) (d)
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5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Scientists discovered that some naturally-occurring lake bacteria grow faster and more
efficiently on the remains of plastic bags than on natural matter like leaves and twigs. The
study involved sampling 29 lakes across Scandinavia between August and September 2019,

2. The carbon compounds in plastic are broken down by bacteria and used as food for their
growth. The effect is quite apparent: when plastic pollution raised the overall carbon level in
lake water by just 4%, the rate of bacterial growth more than doubled. According to the
findings, the plastic pollution in lakes is likely ‘priming’ the bacteria for rapid growth. Iit's almost
like the plastic pollution is getting the bacteria’s appetite going. This suggests that plastic
pollution is stimulating the whole food web in lakes, because more bacteria means more food
for the bigger organisms like ducks and fish.

3. Enriching waters with particular species of bacteria could be a natural way to remove plastic
pollution from the environment according to the researchers. Lake bacteria were found to
prefer plastic-derived carbon compounds over natural ones. The scientists believe this is
because the carbon compounds from plastics are easier for the bacteria to break down and
use as food,

4. The effect varied depending on the diversity of bacterial species present in the lake water —
lakes with more different species were better at breaking down plastic pollution. The study also
found that bacteria removed more plastic pollution in |akes that had fewer unique natural
carbon compounds. This is because the bacteria in the lake water had fewer other food
sources.

5. The results will help to prioritize lakes where pollution control is most urgent and to identify
microbes that could be harnessed to help break down plastic waste and better manage
environmental pollution.

6. This does not condone ongoing plastic pollution, the scientists caution. Some of the
compounds within plastics can have toxic effects on the environment, particularly at high
concentrations. If a lake has a lot of plastic pollution, but low bacterial diversity and a lot of
different natural organic compounds, then its ecosystem will be more vulnerable to damage.

Which is the word of caution given by the scientists?

(1) Some bacteria feed on remains of plastic bags.
(2) Plastic pollution is stimulating the whole food web in lakes.
(3) Bacteria can remove plastic pollution from lakes.

(4) Compounds within plastics can have toxic effect on the environment.
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6) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Scientists discovered that some naturally-occurring lake bacteria grow faster and more
efficiently on the remains of plastic bags than on natural matter like leaves and twigs. The
study involved sampling 29 lakes across Scandinavia between August and September 2019,

2. The carbon compounds in plastic are broken down by bacteria and used as food for their
growth. The effect is quite apparent: when plastic pollution raised the overall carbon level in
lake water by just 4%, the rate of bacterial growth more than doubled. According to the
findings, the plastic pollution in lakes is likely ‘priming’ the bacteria for rapid growth. Iit's almost
like the plastic pollution is getting the bacteria’s appetite going. This suggests that plastic
pollution is stimulating the whole food web in lakes, because more bacteria means more food
for the bigger organisms like ducks and fish.

3. Enriching waters with particular species of bacteria could be a natural way to remove plastic
pollution from the environment according to the researchers. Lake bacteria were found to
prefer plastic-derived carbon compounds over natural ones. The scientists believe this is
because the carbon compounds from plastics are easier for the bacteria to break down and
use as food,

4. The effect varied depending on the diversity of bacterial species present in the lake water —
lakes with more different species were better at breaking down plastic pollution. The study also
found that bacteria removed more plastic pollution in |akes that had fewer unique natural
carbon compounds. This is because the bacteria in the lake water had fewer other food
sources.

5. The results will help to prioritize lakes where pollution control is most urgent and to identify
microbes that could be harnessed to help break down plastic waste and better manage
environmental pollution.

6. This does not condone ongoing plastic pollution, the scientists caution. Some of the
compounds within plastics can have toxic effects on the environment, particularly at high
concentrations. If a lake has a lot of plastic pollution, but low bacterial diversity and a lot of
different natural organic compounds, then its ecosystem will be more vulnerable to damage.

What does the writer mean by the expression ‘bacteria’s appetite going’?

(1) hunger increases
(2) hunger decreases phenomenally
(3) no change in hunger

(4) hunger decreases gradually
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7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Scientists discovered that some naturally-occurring lake bacteria grow faster and more
efficiently on the remains of plastic bags than on natural matter like leaves and twigs. The
study involved sampling 29 lakes across Scandinavia between August and September 2019,

2. The carbon compounds in plastic are broken down by bacteria and used as food for their
growth. The effect is quite apparent: when plastic pollution raised the overall carbon level in
lake water by just 4%, the rate of bacterial growth more than doubled. According to the
findings, the plastic pollution in lakes is likely ‘priming’ the bacteria for rapid growth. It's almost
like the plastic pollution is getting the bacteria’s appetite going. This suggests that plastic
pollution is stimulating the whole food web in lakes, because more bacteria means more food
for the bigger organisms like ducks and fish.

3. Enriching waters with particular species of bacteria could be a natural way to remove plastic
pollution from the environment according to the researchers. Lake bacteria were found fo
prefer plastic-derived carbon compounds over natural ones. The scientists believe this is
because the carbon compounds from plastics are easier for the bacteria to break down and
use as food.

4. The effect varied depending on the diversity of bacterial species present in the lake water —
lakes with more different species were better at breaking down plastic pollution. The study also
found that bacteria removed more plastic pollution in |akes that had fewer unique natural
carbon compounds. This is because the bacteria in the lake water had fewer other food
sources.

5. The results will help to prioritize lakes where pollution control is most urgent and to identify
microbes that could be harnessed to help break down plastic waste and better manage
environmental pollution.

6. This does not condone ongoing plastic pollution, the scientists caution. Some of the
compounds within plastics can have toxic effects on the environment, particularly at high
concentrations. If a lake has a lot of plastic pollution, but low bacterial diversity and a lot of
different natural organic compounds, then its ecosystem will be more vulnerable to damage.

According to the scientists, what could be harnessed to help break down plastic waste?
(1) bacteria

(2) microbes

(3) bigger organisms

(4) leaves and twigs
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8) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Scientists discovered that some naturally-occurring lake bacteria grow faster and more
efficiently on the remains of plastic bags than on natural matter like leaves and twigs. The
study involved sampling 29 lakes across Scandinavia between August and September 2019,

2. The carbon compounds in plastic are broken down by bacteria and used as food for their
growth. The effect is quite apparent: when plastic pollution raised the overall carbon level in
lake water by just 4%, the rate of bacterial growth more than doubled. According to the
findings, the plastic pollution in lakes is likely ‘priming’ the bacteria for rapid growth. It's almost
like the plastic pollution is getting the bacteria’s appetite going. This suggests that plastic
pollution is stimulating the whole food web in lakes, because more bacteria means more food
for the bigger organisms like ducks and fish.

3. Enriching waters with particular species of bacteria could be a natural way to remove plastic
pollution from the environment according to the researchers. Lake bacteria were found fo
prefer plastic-derived carbon compounds over natural ones. The scientists believe this is
because the carbon compounds from plastics are easier for the bacteria to break down and
use as food.

4. The effect varied depending on the diversity of bacterial species present in the lake water —
lakes with more different species were better at breaking down plastic pollution. The study also
found that bacteria removed more plastic pollution in |akes that had fewer unique natural
carbon compounds. This is because the bacteria in the lake water had fewer other food
sources.

5. The results will help to prioritize lakes where pollution control is most urgent and to identify
microbes that could be harnessed to help break down plastic waste and better manage
environmental pollution.

6. This does not condone ongoing plastic pollution, the scientists caution. Some of the
compounds within plastics can have toxic effects on the environment, particularly at high
concentrations. If a lake has a lot of plastic pollution, but low bacterial diversity and a lot of
different natural organic compounds, then its ecosystem will be more vulnerable to damage.

Read the following statements :

A: Lake bacteria prefers natural carbon compounds over plastic derived ones.
B: Plastic pollution increases the rate of bacterial growth.

(1) A is correct, B is incorrect.

(2) A is incorrect, B is caorrect.

(3) Both A and B are correct.

(4) Both A and B are incorrect.
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9) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Scientists discovered that some naturally-occurring lake bacteria grow faster and more
efficiently on the remains of plastic bags than on natural matter like leaves and twigs. The
study involved sampling 29 lakes across Scandinavia between August and September 2019,

2. The carbon compounds in plastic are broken down by bacteria and used as food for their
growth. The effect is quite apparent: when plastic pollution raised the overall carbon level in
lake water by just 4%, the rate of bacterial growth more than doubled. According to the
findings, the plastic pollution in lakes is likely ‘priming’ the bacteria for rapid growth. Iit's almost
like the plastic pollution is getting the bacteria’s appetite going. This suggests that plastic
pollution is stimulating the whole food web in lakes, because more bacteria means more food
for the bigger organisms like ducks and fish.

3. Enriching waters with particular species of bacteria could be a natural way to remove plastic
pollution from the environment according to the researchers. Lake bacteria were found to
prefer plastic-derived carbon compounds over natural ones. The scientists believe this is
because the carbon compounds from plastics are easier for the bacteria to break down and
use as food,

4. The effect varied depending on the diversity of bacterial species present in the lake water —
lakes with more different species were better at breaking down plastic pollution. The study also
found that bacteria removed more plastic pollution in |akes that had fewer unique natural
carbon compounds. This is because the bacteria in the lake water had fewer other food
sources.

5. The results will help to prioritize lakes where pollution control is most urgent and to identify
microbes that could be harnessed to help break down plastic waste and better manage
environmental pollution.

6. This does not condone ongoing plastic pollution, the scientists caution. Some of the
compounds within plastics can have toxic effects on the environment, particularly at high
concentrations. If a lake has a lot of plastic pollution, but low bacterial diversity and a lot of
different natural organic compounds, then its ecosystem will be more vulnerable to damage.

What are the effects of increasing plastic pollution in lakes?
A. Appetite of lake bacteria grows.

B. Carbon level of lake water increases.

C. Lake bacteria start disappearing.

D. Increase in appetite of ducks and fish.

(HAB

(2)B,C

(3)A,D

4)A.C
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1) Directions : Read the extract given below and answer the questions that follow by selecting the

correct / most appropriate options.

A simple child, that lightly draws its breath,

And feels it's life in every limb, what should it know of death?

| met a little cottage girl: she was eight years old, she said;

Her hair was thick with many a curl that clustered round her head.
She had a rustic, woodland air, and she was wildy clad:

Her eyes were fair, and very fair; — her beauty made me glad.
“Sisters and brothers, little maid, how many may you be?”"

"How many? Seven in all,” she said, and wondering looked at me.
“And where are they? | pray you tell.” She answered, “Seven are we;’
And two of us at Conway dwell, and two are gone to sea.

“Two of us in the churchyard lie, my sister and my brother;

And, in the churchyard cottage, | dwell near them with my mother.”

The poet wants to highlight the little girl's

(1) innocence and simplicity
(2) foolishness

(3) stubboern attitude

(

4) irrational behaviour
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2) Directions : Read the extract given below and answer the questions that follow by selecting the

correct/ most appropriate options.

A simple child, that lightly draws its breath,

And feels it's life in every limb, what should it know of death?

| met a little cottage girl: she was eight years old, she said;

Her hair was thick with many a curl that clustered round her head.
She had a rustic, woodland air, and she was wildy clad:

Her eyes were fair, and very fair; — her beauty made me glad.
“Sisters and brothers, little maid, how many may you be?”

“How many? Seven in all,” she said, and wondering looked at me.
“And where are they? | pray you tell.” She answered, “Seven are we;’
And two of us at Conway dwell, and two are gone to sea.

“Two of us in the churchyard lie, my sister and my brother;

And, in the churchyard cottage, | dwell near them with my mother.”

What expression came on the girl's face? A look of

(1) happiness
(2) amazement
(3) wonder

(4) disbelief
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3) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
A simple child, that lightly draws its breath,
And feels it's life in every limb, what should it know of death?
| met a little cottage girl: she was eight years old, she said;
Her hair was thick with many a curl that clustered round her head.
She had a rustic, woodland air, and she was wildy clad:
Her eyes were fair, and very fair; — her beauty made me glad.
“Sisters and brothers, little maid, how many may you be?"
“How many? Seven in all,” she said, and wondering looked at me.
“And where are they? | pray you tell.” She answered, “Seven are we;"
And two of us at Conway dwell, and two are gone to sea.
“Two of us in the churchyard lie, my sister and my brother;
And, in the churchyard cottage, | dwell near them with my mother.”

What was the age of the girl?

[Question ID = 102][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q102]
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4) Directions : Read the extract given below and answer the questions that follow by selecting the

correct / most appropriate options.

A simple child, that lightly draws its breath,

And feels it's life in every limb, what should it know of death?

| met a little cottage girl: she was eight years old, she said;

Her hair was thick with many a curl that clustered round her head.
She had a rustic, woodland air, and she was wildy clad:

Her eyes were fair, and very fair; — her beauty made me glad.
“Sisters and brothers, little maid, how many may you be?”"

"How many? Seven in all,” she said, and wondering looked at me.
“And where are they? | pray you tell.” She answered, “Seven are we;"
And two of us at Conway dwell, and two are gone to sea.

“Two of us in the churchyard lie, my sister and my brother;

And, in the churchyard cottage, | dwell near them with my mother.”

Identify the poetic device in line no. 7.

(1) Oxymoron
(2) Paradox

(3) Alliteration
(4) Metaphor
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5) Directions : Read the extract given below and answer the questions that follow by selecting the

correct/ most appropriate options.

A simple child, that lightly draws its breath,

And feels it's life in every limb, what should it know of death?

| met a little cottage girl: she was eight years old, she said;

Her hair was thick with many a curl that clustered round her head.
She had a rustic, woodland air, and she was wildy clad:

Her eyes were fair, and very fair; — her beauty made me glad.
“Sisters and brothers, little maid, how many may you be?”

“How many? Seven in all,” she said, and wondering looked at me.
"And where are they? | pray you tell.” She answered, “Seven are we;"
And two of us at Conway dwell, and two are gone to sea.

“Two of us in the churchyard lie, my sister and my brother;

And, in the churchyard cottage, | dwell near them with my mother.”

Find the synonym of the word ‘dwell’ as usedin line 12.
(1) wonder
(2) run

(3) play
(4) live
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6) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
A simple child, that lightly draws its breath,
And feels it's life in every limb, what should it know of death?
| met a little cottage girl: she was eight years old, she said;
Her hair was thick with many a curl that clustered round her head.
She had a rustic, woodland air, and she was wildy clad:
Her eyes were fair, and very fair; — her beauty made me glad.
“Sisters and brothers, little maid, how many may you be?"
“How many? Seven in all,” she said, and wondering looked at me.
“And where are they? | pray you tell.” She answered, “Seven are we;"
And two of us at Conway dwell, and two are gone to sea.
“Two of us in the churchyard lie, my sister and my brother;
And, in the churchyard cottage, | dwell near them with my mother.”

How many siblings of the girl are nof alive?

(1) two

(2) four

(3) five

(4) seven

[Question ID = 105][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q105]
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Topic:- ENG_Q106-120_L1_P1_CTET

1) When children enter school with different language experiences from home and community,
the teacher in school should

(1) neglect their home language.

(2) focus on language of instruction.

(3) make use of their home language.

(4) ask them not to use their home language at school.
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2) Which one of the following should teachers nof practice with children to make them effective
communicators?

(1) Play with language and use it for purposes.

(2) Produce language

(3) Build and share knowledge

(4) Memorising the dialogues for role play to perform well.

[Question ID = 107][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q107]
1. 1 [Option ID = 425]
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3) Which among the following is a correct statement?

(1) Children who come to English class are like a clean slate.

(2) In Class-1, children do not know English at all.

(3) Children come to school with a treasure of experience of their own.
(

4) Students’ experiences do not support their learning.

[Question ID = 108][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q108]
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4) Every child is equipped with a set of syntactic rules called universal grammar. This is related to

1) Language Acquisition Device

(

(2) Language Acquiring Device
(3) Learning Acquisition Derive
(

4) Language Acquisition Derive

[Question ID = 109][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q109]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

5) The process of linking letters with their sounds to read new words is called

1) Morphology

(

(2) Word Recognition

(3) Phonological Decoding
(

4) Reading Comprehension

[Question ID = 110][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q110]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]



6) Which approach enables a teacher to appreciate other languages in the classroom and provide
a bridge for students fo understand concepts and develop a closer link with their home
language and instruction language of school?

1) Three-language formula

(

(2) Multilingual approach
(3) Multi-grade approach
(

4) Direct approach

[Question ID = 111][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q111]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

7) Which one of the following is nofa correct statement?

1) Speaking is the second stage following listening.

(
(2) The writing skill should be developed before speaking skills.
(3) Practice in listening should precede practice in speaking.

(

4) The language skills should be practised in integration.

[Question ID = 112][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q112]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

8) The language a child uses with his friends is different from the language used with his
teachers. The same way he speaks to his mother about food, etc. in different ways. Which
aspect of language plays a part here?

1) Environmental aspect

(
(2) Psychological aspect
(3) Informal aspect

(

4) Social aspect

[Question ID = 113][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q113]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

9) The teacher first explained the rules of tenses to the students and then asked them to frame
sentences on present, past and future tense. She is following

(1) Deductive Approach
(2) Inductive Approach
(3) Situational Approach
(4) Structural Approach

[Question ID = 114][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q114]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]



10) Language rich environment refers to the environment which provides an opportunity to a child
fo

(1) see, notice and use the language.

(2) overcome language deficit.

(3) create sentences he/she has never heard.
(4) learn beyond the classroom.

[Question ID = 115][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q115]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

11) Which one of the following is nottrue about assessment?

(1) Assessment helps in identifying the child’'s strengths, needs, interests, and preferences.
(2) Assessment potentiates child’s performance and scaffolds it through interventions.

(3) Assessment helps in comparing students’ performances with each cther in the class.
(

4) Assessment contributes to early identification of learning gaps and learning difficulties.

[Question ID = 116][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q116]
. 1 [Option ID = 461]
2 [Option ID = 462]
3 [Option ID = 463]
4 [Option ID = 464]

AW N -

12) Which one of the following is nottrue about Communicative language teaching methods?

(1) It promotes learners to encounter real-life situations.

(2) It focuses on minimising spelling and grammatical errors.

(3) It prepares the learners for meaningful and authentic communicative activity.
(

4) 1t lays emphasis on using language to communicate meaningfully in the target language.

[Question ID = 117][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q117]
1 [Option ID = 465]
2 [Option ID = 466]
3 [Option ID = 467]
4 [Option ID = 468]

A wWwN -

13) A teacher while developing speaking skills among the learners said that we should keep some
important factors while speaking. The factors that influence our choice of words when we
speak to someone are
|. Context
Il. Climate
Ill. The person we are speaking to
V. Motivation

(1)1, lland Il
(2)1, Il and IV
(3) 11, 1l and IV

(4) 11l and IV only

[Question ID = 118][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q118]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]



3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

14) Remedial Teaching is for the students who

(1) cannot understand the topic or are facing difficulty.
(2) are irregular in attending classes.

(3) have learning disabilities.

(

4) are proficient in the target language.

[Question ID = 119][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q119]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

15) If one of the learners in your class is visually impaired, as a language teacher you will
1) support the child by doing his work.
2) provide braille books and audio aids to read and listen to the text.

(
(
(3) give maximum opportunity to peers to help him out.
(

4) fix the duty of parents to complete his work.

[Question ID = 120][Question Description = CTET_P1_PART_4_L1_SET_103_ENGLISH_Q120]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

Topic:- HIN_Q121-128_L2_P1_CTET



") fREer ; fAEforiEe TErTer #T 9T [E T TAT & AgT |99H U 597 a7
AT #T FiA7 |
AT F O F RAT=Ea g2t § 1 1 fearst werey, 3t i aw
A3 F FAAT TRT H TUTET, IAVANT F T80 7 HRL TR H
FHAIAT AATAST 6 AT T ASG TN, AT F (=Aoherer 7197 F F Gao 5
q13 EETT & T IHAT Ao+ T8 °§ HF=g3 Agw, FAYL § qea? Frar gar
THHT TagE-THE AT, YA % (@90 92 o7 gar I9H Fidsl & Ay
Fremf-aes — weft i ot e At 1 2 | UF 39 T 9T g8 A wedAr
el T T THAT | TeIF FT T2T AT, T AT, ATATATIT FT, HIET AT
e | T F/ AT A F1 TR ATI0T HL AAT g | AT AR T TIWT T il I
TEATT &I g0 A1 THET JTT AT THAr g | TAWT F T S THAT A7 (Hqerd 1
& | TN HT AT T H gl e TE g | A Tl g, FIAN @, (g ATETEE At
ATLH ZheAT ¢ |

(1) T

(2) T
(3) FTEAAT
(4) ==

[Question ID = 601][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q121]
1. 1 [Option ID = 2401]
2. 2 [Option ID = 2402]
3. 3 [Option ID = 2403]
4. 4 [Option ID = 2404]



2) foder ; fA=TerfEe TETer # 9EET T T YA & A9gT [9EH 3UgTh 997 a7
AT #T FiA7 |
AT F O F RAT=Ea g2t § 1 1 fearst werey, 3t i aw
A3 F FAAT TRT H TUTET, IAVANT F T80 7 HRL TR H
FHAIAT AATAST 6 AT T ASG TN, AT F (=Aoherer 7197 F F Gao 5
q13 EETT & T IHAT Ao+ T8 °§ HF=g3 Agw, FAYL § qea? Frar gar
THHT TagE-THE AT, YA % (@90 92 o7 gar I9H Fidsl & Ay
Framft-gra — wefy fir orrar T et 21 2 ) UF g9 T 97 T F Fedn
el T T THAT | TeIF FT T2T AT, T AT, ATATATIT FT, HIET AT
e | T F/ AT A F1 TR ATI0T HL AAT g | AT AR T TIWT T il I
TEATT &I g0 A1 THET JTT AT THAr g | TAWT F T S THAT A7 (Hqerd 1
& | TN HT AT T H gl e TE g | A Tl g, FIAN @, (g ATETEE At
AT T
T FT EAATET T T8 Fgt 3@ il Haar g 2

(1) st F AT Ea T s s 7
(2) THTFTSf H

(3) TTATT H

(4) ERET &

[Question ID = 602][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q122]
1. 1 [Option ID = 2405]
2. 2 [Option ID = 2406]
3. 3 [Option ID = 2407]
4. 4 [Option ID = 2408]



3 fRder ; fA=ferfae Terer #7 BET 7 T JHT & 9gT (399 3ugT 997 a7
Ao 1 AT |
AT F O F RAT=Ea g2t § 1 1 fearst werey, 3t i aw
2T F FAAT Y20 H I, IAGAN F TEIEN AT HFC TR0 F
FHATAT AAFART 5 AT IH0T AZA AL, AL F Fharer T § § g
q13 EETT & T IHAT Ao+ T8 °§ HF=g3 Agw, FAYL § qea? Frar gar
THHT TagE-THE AT, YA % (@90 92 o7 gar I9H Fidsl & Ay
Fremf-aes — weft i ot e At 1 2 | UF 39 T 9T g8 A wedAr
el T T THAT | TeIF FT T2T AT, T AT, ATATATIT FT, HIET AT
e | T F/ AT A F1 TR ATI0T HL AAT g | AT AR T TIWT T il I
TEATT &I g0 A1 THET JTT AT THAr g | TAWT F T S THAT A7 (Hqerd 1
& | AT AT TG 7 g e TE g | A AAAN g, FIA! @, 0g HrEraw Tl
AT B & |
T 9T A TT T A FOTAT AL A0 ST ARAL G | T AT A

(1) 7= &1 397 Ta+1 =7 § T g &Y Fwawr ag1 H1 ST THed 1 g |
(2) T g97 U= S g 6 T 397 At Foaar A A FeTHwAT qgl g |
(3) T F9T T UL Bl AT WHS ol AT g 1% ZAL & A% F (F4=7% Hzar 7T 2 |

(4) TF 39T FT FITAT, A=, ATAET T 90T F fEoge faw g e A
FOTAT HTAT AF ALl B |

[Question ID = 603][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q123]
1. 1 [Option ID = 2409]
2. 2 [Option ID = 2410]
3. 3 [Option ID = 2411]
4. 4 [Option ID = 2412]



4 fader ; [RETfefaa TErer @i 9EHT 95 7 THT # qgi 99 35U g7 I
Ao 1 AT |
AT F O F RAT=Ea g2t § 1 1 fearst werey, 3t i aw
2T F FAAT Y20 H I, IAGAN F TEIEN AT HFC TR0 F
FHAIAT AATAST 6 AT T ASG TN, AT F (=Aoherer 7197 F F Gao 5
q13 EETT & T IHAT Ao+ T8 °§ HF=g3 Agw, FAYL § qea? Frar gar
ST Ffaem-aitg TATE, TAW % T 92 9% ger Iue AEl & A
Framft-gra — wefy fir orrar T et 21 2 ) UF g9 T 97 T F Fedn
el T T THAT | TeIF FT T2T AT, T AT, ATATATIT FT, HIET AT
e | T F/ AT A F1 TR ATI0T HL AAT g | AT AR T TIWT T il I
TEATT &I g0 A1 THET JTT AT THAr g | TAWT F T S THAT A7 (Hqerd 1
& | AT AT TG 7 g e TE g | A AAAN g, FIA! @, 0g HrEraw Tl
AT T
THAT T AT TEA Tl AT TR g | A ATead g
(1) THAT &1 FART @ET 2 |
(2) THAT & 3T AT 2
(3) THAT #¥ FMETE ATHF 3 |
(4) THAT T T==T HEE

[Question ID = 604][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q124]

1. 1 [Option ID = 2413]

2. 2 [Option ID = 2414]

3. 3 [Option ID = 2415]
4. 4 [Option ID = 2416]



5) fAeer : [AETeEeT TEier FF 9EFHT Qe AT TAT F Ggl | TET gugT 397 AT
Ao 1 AT |
AT F O F RAT=Ea g2t § 1 1 fearst werey, 3t i aw
2T F FAAT Y20 H I, IAGAN F TEIEN AT HFC TR0 F
FHATAT AAFART 5 AT IH0T AZA AL, AL F Fharer T § § g
a1 ZRETT F T IR Ao ATl § ==g3 @2, FHIE § FhT Srar g
THHT TagE-THE AT, YA % (@90 92 o7 gar I9H Fidsl & Ay
Fremf-aes — weft i ot e At 1 2 | UF 39 T 9T g8 A wedAr
el T T THAT | TeIF FT T2T AT, T AT, ATATATIT FT, HIET AT
e | T F/ AT A F1 TR ATI0T HL AAT g | AT AR T TIWT T il I
TEATT &I g0 A1 THET JTT AT THAr g | TAWT F T S THAT A7 (Hqerd 1
& | AT AT T | &l [T TE § | A Al ¢, TIA @, 0 AEEE Tl
AT gl ¢ |
T et 8, et § Py e e A A & ¢ AT 9

(1) THAT FT T AA E |

(2) T & g

(3) ™ | IHIT 7EI1 2 |

(4) TTHAT TEA AT ATHAT T F7AT 2 |

[Question ID = 605][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q125]
1. 1 [Option ID = 2417]
2. 2 [Option ID = 2418]
3. 3 [Option ID = 2419]
4. 4 [Option ID = 2420]




6 fader ; fA=Teriae Terier #7 TEET T T FHT & 9gT [99H 3ugTh 997 a7
Ao 1 AT |
AT F O F RAT=Ea g2t § 1 1 fearst werey, 3t i aw
2T F FAAT Y20 H I, IAGAN F TEIEN AT HFC TR0 F
FHAIAT AATAST 6 AT T ASG TN, AT F (=Aoherer 7197 F F Gao 5
q13 EETT & T IHAT Ao+ T8 °§ HF=g3 Agw, FAYL § qea? Frar gar
ST Ffaem-aitg TATE, TAW % T 92 9% ger Iue AEl & A
Framft-gra — wefy fir orrar T et 21 2 ) UF g9 T 97 T F Fedn
el T T THAT | TeIF FT T2T AT, T AT, ATATATIT FT, HIET AT
e | T F/ AT A F1 TR ATI0T HL AAT g | AT AR T TIWT T il I
TEATT &I g0 A1 THET JTT AT THAr g | TAWT F T S THAT A7 (Hqerd 1
& | AT AT TG 7 g e TE g | A AAAN g, FIA! @, 0g HrEraw Tl
AT T
HEL TR | TEiaT 5= g
(1) ==
(2) Fgryor
(3) wfErdramr
(4) BT fEdrgr

[Question ID = 606][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q126]

1. 1 [Option ID = 2421]

2. 2 [Option ID = 2422]

3. 3 [Option ID = 2423]
4. 4 [Option ID = 2424]



7 fRder ; fAETerfae TErer #7 9EET 9 T FHT & 9gT [99H 3ugTh 997 a7
AT #T FiA7 |
AT F O F RAT=Ea g2t § 1 1 fearst werey, 3t i aw
A3 F FAAT TRT H TUTET, IAVANT F T80 7 HRL TR H
FHAIAT AATAST 6 AT T ASG TN, AT F (=Aoherer 7197 F F Gao 5
q13 EETT & T IHAT Ao+ T8 °§ HF=g3 Agw, FAYL § qea? Frar gar
THHT TagE-THE AT, YA % (@90 92 o7 gar I9H Fidsl & Ay
Framft-gra — wefy fir orrar T et 21 2 ) UF g9 T 97 T F Fedn
el T T THAT | TeIF FT T2T AT, T AT, ATATATIT FT, HIET AT
e | T F/ AT A F1 TR ATI0T HL AAT g | AT AR T TIWT T il I
TEATT &I g0 A1 THET JTT AT THAr g | TAWT F T S THAT A7 (Hqerd 1
& | TN HT AT T H gl e TE g | A Tl g, FIAN @, (g ATETEE At
AT ET
ra=aRaT FaA™ 2

(1) Fegee
(2) =TT

(3) Fgie
(4) FHETH

[Question ID = 607][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q127]
1. 1 [Option ID = 2425]
2. 2 [Option ID = 2426]
3. 3 [Option ID = 2427]
4. 4 [Option ID = 2428]



8 fader ; fA=TET TETrr FT 9EET T TT THT & g [9EH 3UgT 997 a7
Ao 1 AT |
AT F O F RAT=Ea g2t § 1 1 fearst werey, 3t i aw
2T F FAAT Y20 H I, IAGAN F TEIEN AT HFC TR0 F
FHAIAT AATAST 6 AT T ASG TN, AT F (=Aoherer 7197 F F Gao 5
q13 EETT & T IHAT Ao+ T8 °§ HF=g3 Agw, FAYL § qea? Frar gar
THHT TagE-THE AT, YA % (@90 92 o7 gar I9H Fidsl & Ay
Framft-gra — wefy fir orrar T et 21 2 ) UF g9 T 97 T F Fedn
el T T THAT | TeIF FT T2T AT, T AT, ATATATIT FT, HIET AT
e | T F/ AT A F1 TR ATI0T HL AAT g | AT AR T TIWT T il I
TEATT &I g0 A1 THET JTT AT THAr g | TAWT F T S THAT A7 (Hqerd 1
& | AT AT TG 7 g e TE g | A AAAN g, FIA! @, 0g HrEraw Tl
AT T
“TATT F I HAT G1 FAET G120 FL At g |” T § [{ara g

(&
(2) &
3)T
(4) T

[Question ID = 608][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q128]
1. 1 [Option ID = 2429]
2. 2 [Option ID = 2430]
3. 3 [Option ID = 2431]
4. 4 [Option ID = 2432]

Topic:- HIN_Q129-135_L2_P1_CTET



") fREer ; fAEforfae TErier #T UEFT qE T TAT & AgT |99H U 597 a7
fame &7 AT |
FICTST (a7 6 AT 7 g1 AT 7§ Tg qoet forgn o7 & wveer sftaw = Feg e
#F T SeeT grar g odr syafa w9 &fiw o #r FgfEa g g
qEEFT Fh UF TN AeH-fAEE g g AFAlr 2 1 29 YO FJ S
SA-TA T Herer 37 | Fh i R § avagdq i a9 @, FAaEd §
T TT ASHT 1 UF TST HHIT AT FlorsT § I=hl HAT 1 TF T 374 (99[F
TAT =TT 2 % FE0 TS Agl 97 | FaT (=T Fe AT (AEaat
AT T T LT AT 4 |
SAT-329T FT ITH 7 ¥ for7 A g

(1) erfz-fRa=rmr
(2) srem-T===r
(3) TTAE A==
(4) arfer-TA==mT

[Question ID = 609][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q129]
1. 1 [Option ID = 2433]
2. 2 [Option ID = 2434]
3. 3 [Option ID = 2435]
4. 4 [Option ID = 2436]




2) frder ; fAETeEeT T T 9EHT Qe AT AT F Ggl | TET gugT g7 AT
fame &7 AT |
FIAS ST F ITET T Z1 AT T I T8 foran 41 7% 7= sae 71 3 [y
T AT FRed grar g oY guefeyr w9 & e W fafET awme g
qETFA F0h A AT AEH-FE g 31 AEAT 2 1 2 O 7 IR
SAA-mq Haer f=2aT | Few i Rea=ar § afaay 1 ara av @0, Fasd J
T TT ASHT 1 UF TST HHIT AT FlorsT § I=hl HAT 1 TF T 374 (99[F
dIY A2 AT § ATFE AT, Tog AT TEF1 7 378 HIg THT 514 Agl 19971% |
TAT =TT 2 % FE0 TS Agl 97 | FaT (=T Fe AT (AEaat
AT T T LT AT 4 |
=TT 6 AT T2 gl S qheA71 3 6

(1) Fe= =Ff~F FT THT 329 ZA1 2

(2) AT TET-ATEA T ET LI AT AT
(3) TTAAT AT AT THT T ATFY FLAT 2
(4) STTE=AT 1 AT Hgea 0l &

[Question ID = 610][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q130]
1. 1 [Option ID = 2437]
2. 2 [Option ID = 2438]
3. 3 [Option ID = 2439]
4. 4 [Option ID = 2440]



3 fRder ; fAeferiae Terer @7 BET [ T JHT & 9g (999 3ugT 997 a7
faeT #ir AT |
FICTST (a7 6 AT 7 g1 AT 7§ Tg qoet forgn o7 & wveer sftaw = Feg e
#F T SeeT grar g odr syafa w9 &fiw o #r FgfEa g g
qEEFT Fh UF TN AeH-fAEE g g AFAlr 2 1 29 YO FJ S
SA-TA T Herer 37 | Fh i R § avagdq i a9 @, FAaEd §
T TT ASHT 1 UF TST HHIT AT FlorsT § I=hl HAT 1 TF T 374 (99[F
TAT =TT 2 % FE0 TS Agl 97 | FaT (=T Fe AT (AEaat
AT T T LT AT 4 |
Tl & TdT T=w =t T

(1) T
(2) AeaATefTeT
(3) Zore=w
(4) FeaTET
[Question ID = 611][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q131]
1. 1 [Option ID = 2441]
2. 2 [Option ID = 2442]

3. 3 [Option ID = 2443]
4. 4 [Option ID = 2444]



4 fader : [REfefaa T=rier @it UgHT Q5 77 THT & gl A9 guT 597 I
fame &7 AT |
FIAS ST F ITET T Z1 AT T I T8 foran 41 7% 7= sae 71 3 [y
T AT FRed grar g oY guefeyr w9 & e W fafET awme g
qETFA F0h A AT AEH-FE g 31 AEAT 2 1 2 O 7 IR
SAA-mq Haer f=2aT | Few i Rea=ar § afaay 1 ara av @0, Fasd J
T TT ASHT 1 UF TST HHIT AT FlorsT § I=hl HAT 1 TF T 374 (99[F
dIY A2 AT § ATFE AT, Tog AT TEF1 7 378 HIg THT 514 Agl 19971% |
TAT =TT 2 % FE0 TS Agl 97 | FaT (=T Fe AT (AEaat
AT T T LT AT 4 |
TR § A oA & e o 7 Iwrd agie ?

(1) ST SHET=AT

(2) =a= =aq

(3) Zore=w

(4) w53
[Question ID = 612][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q132]
1. 1 [Option ID = 2445]
2. 2 [Option ID = 2446]

3. 3 [Option ID = 2447]
4. 4 [Option ID = 2448]




5) fRder ; fAeTeiaT Terer #7 BET 9 T JHT & 9gT (999 3ugTh 997 a7
faeT #ir AT |
FIAS ST F ITET T Z1 AT T I T8 foran 41 7% 7= sae 71 3 [y
T AT FRed grar g oY guefeyr w9 & e W fafET awme g
qEEFT Feh U TA1906 AA-(A4=00 S0 21 %t g | 29 O 9 I
SAT-T T " =337 | e i FE=ar § afEmas #1799 a1 © E, Fae |
T TT ASHT 1 UF TST HHIT AT FlorsT § I=hl HAT 1 TF T 374 (99[F
TAH FETf g % FE0r TS A1 97 | T AT wed ar [AEniaat iy
AT T T LT AT 4 |
TS U Lot d GeqT 47 " AT | Yiiad 953 § JT99TT g

(1) ATTATT ATAHTT FATAT

(2) Tafzer anfarger et

(3) WTEATT AT F FAT ATAT
(4) TS FET HATE

[Question ID = 613][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q133]
1. 1 [Option ID = 2449]
2. 2 [Option ID = 2450]
3. 3 [Option ID = 2451]
4. 4 [Option ID = 2452]




6 fader ; fA=Teriae Terier # TEET T T FHT & 9gT [99H 3ugT 997 a7
fame &7 AT |
TS S AT & T T 8 AT 7 7g 7871 o a1 & qma staw #7130 Fow
#F T SeeT grar g odr syafa w9 &fiw o #r FgfEa g g
qEEFT Fh UF TN AeH-fAEE g g AFAlr 2 1 29 YO FJ S
SA-TA T Herer 37 | Fh i R § avagdq i a9 @, FAaEd §
T TT ASHT 1 UF TST HHIT AT FlorsT § I=hl HAT 1 TF T 374 (99[F
TAT =TT 2 % FE0 TS Agl 97 | FaT (=T Fe AT (AEaat
AT T T LT AT 4 |

(1) = + amff
(2) &= + eefi
(3) famr + ameft
(4) = + aeff

[Question ID = 614][Question Description = CTET_P1_PART_5_L2_SET_103_HINDI_Q134]
1. 1 [Option ID = 2453]
2. 2 [Option ID = 2454]
3. 3 [Option ID = 2455]
4. 4 [Option ID = 2456]



7 fder ; fAETefEe TErer #7 9w 9 T FHT & 9gT [99H 3ugTh 997 a7
fame &7 AT |
TS S AT & T T 8 AT 7 7g 7871 o a1 & qma staw #7130 Fow
#F T SeeT grar g odr syafa w9 &fiw o #r FgfEa g g
qEEFT Fh UF TN AeH-fAEE g g AFAlr 2 1 29 YO FJ S
SA-TA T Herer 37 | Fh i R § avagdq i a9 @, FAaEd §
T TT ASHT 1 UF TST HHIT AT FlorsT § I=hl HAT 1 TF T 374 (99[F
& ATE FACT T AFY gAT, Tig A7 TEHT 7 ITH Al AIHT 74 qef (99T% |
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